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* The question paper has two sections as gwén below.
Part A : 100 MCQs for ZOOWarksn Gl
Part B : 2 Essays, 50 Mark%'__g ‘”’_'
** OMR will be collected after 2 hoyrs o't
commencement of the Exam. -

*ttttt*#ll*l*******#**********************#t****t***********t***t***t**t

Instructions for Part B : Essay Writing

** The Essay must be written in either English / Hindi which must be
clearly started on the cover of the Answer Booklet in the space
provided.

¢ Word limit as specified must be adhered to.

% Any page or the portion of the page left blank in the Answer Booklet
must be clearly stuck off

¢ Write two essays choosing one, in about 500-600 words each.
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Part B: Essay
A e T e I I 2L L e s
Section |
|. Immigration is Not a Threat, but Fundamentally it's an Economic Issue !
2. India's Space Ambitions — Are they Welfarist?
3. My vision of an ideal world order.

4. Morality is the herd-instinct in the individual.

Sectiion II.

1. India's Superpower dream faces steep economic hurdles
2. If women ruled the world.

3. Caste System — Source of India’s Eternal Inequality?

4. When money speaks, truth is silent !
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Consider the following statement.

1. Federal setup with strong central

government

The idea of residual powers

Institution of the speaker and her/his

role

4. Advisory jurisdiction of supreme
court

b2

How many of the above provision are
adapted from Canada

(@) 1,3 and 4 only
(b) 1,2 and 4 only
(c) 2,3 and 4 only
d)yl1,2,3.4

Which of the following is mnot a
reasonable restriction given under article

19 (1) (c)

(a) Sovereignty and integrity of India
(b) Security of state

(¢) Morality

(d) Public order

Under which of the following article of

the constitution of India has the supreme

court of India place the right to free legal
aid

(@) Article 14
(b) Article 18
(¢) Article 20
(d) Article 21

SET-A

ot

4.
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The essence of geeyy)
of the following bag;

1. No discrimination

e

ansm rest on which
¢ principle

aganst any one on
the ground of faith

Separation of religion from pohitics
Acceptance of religion as purely and
strictly private affairs of individual
having nothing to do with the state

Select the answer using codes below.

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1and 3 only
(d) 1,2 and 3.

Consider the

following
regarding writs

statement

1. The concept of issuing writs is taken

from USA

The writs of mandamus can be issued

against president, governors and

Judges and action in their judicial

capacity in certain cases

3. A high court can issue certiorari
against itself in the administrative
capacity but not in judicial capacity

4. The writs of prohibition and
certiorari arc available when the
lower court has passed its order

2,

How many of these statements are correct

(a) Only one

(b) Only two

(¢) Only three

(d) All of the above.

www.atiyafoundation.com
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6. Consider the following pairs

Provision in directive | Added By
principle of state
policy

1 | To minimize 42 o
inequalities in income | constitution
status, facilities, and amendment
opportunities. Act-1976

2 | To protect and 44n
improve the constitution
environment and to | amendment
safeguard forest and Act-1978

|| wildlife.

3 | To promote voluntary | 97%
formation Constitution
autonomous amendment
functioning, Act-2011
demographic central
and professional
management of
cooperative societies.

4 | To promote equal g6 :
Justice and to provide Constimlglt
true legal aid the amendment
poor. | Act-2002

How many of the above are correctly matched

(a) Only one
(b) Only two
(¢) Only three
(d) All four

7. Consider the following statement with

respect to the pardoning power of the
president

1. The pardoning power of the
president in subjected to judicial
review

2. The pardoning power is exercised on
the aid and advice of council of
minister

SET-A

Which of the given codes ig/ are correct

(a) 1 Only

(b) 2 Only

(c) Both 1 And 2
(d) Neither | Nor 2.

8.  With reference to the structure of the
central secretariat the correct arrangement is

(a) Department — Divisjon — Wing —
Section - Branch

(b) Department — Wing — Division —
Section — Branch

(¢) Department — Wing - Division —
Branch — Section

(d) Division - Department — Branch —
Wing — Section

9.  Consider the following statement with

\..;(_3 respect to the speaker

1. The date of election of speaker is fixed
by election commission

2. When a resolution for the removed of
speaker is under consideration of the

house he can preside at the sitting of
the house

3. Whenever the Lok-Sabha is dissolved,
the speaker vacates his office

How many statements are incorrect

(a) Only one
(b) Only two
(c) Only three
(d) None

www .atiyafoundation.com
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Consider the following statement with

respect 1o effect of prorogation of the house

|

. s
A till pending in the parhament lapse by
reason of prorogation of the house

2. Motion and resoluton which have been

moved and arc not disposed 1n the session
do not lapse upoen prorogation

Any business pending  before  a
parliamentary commuttee shall not laps
upon the prorogation of the house

On prorogation of either house of the
parliament the president has power 10 1ssue
ordinance under article 123

¢

Which of the following is correct

(a) 1.3 and 4 only
(b) 2, 3 and 4 only
(c) 1.2 and 3 only
(d) 1,2,3.4

respect 10 the legislative procedure
parliament.

Consider the following statement with

in th

Article 116 contains provision re
appropnation bill

gardin

e

2. Money bill and financial bil} cannot be
introduced in the Rajva Sabha

3. The legislative procedure adopted for
passing government and private member
bill is different

4. In case of deadlock between the two
housed regarding the passage of money
bill. joint sitng of the house 1s presided
by the speaker of the Lok-Sabha

How many of the above swtement is

incorrect

(a) Only one

(b) Only two
(¢) Only three
(d) All four

SET-A

12.

e =t 1%
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Which of the foll

(a)

th)

(d)

13,

respect
't

da

Consider the !rsl'.vau-.ng Hatement with
cstimate -.Ur',"'.'n.:“\_'r‘
The first estimate ~ommitlee was setup 1n
1952 on the rec mmendation of John

Matha:

Currently 1t contains 30 members
Rajva Sabha has
commitice

A munister cannot become 1t member

NO representation in thys

O mg IS COfTeCt

. 2.4 only
1. 2 only

1.3 iunl_\,-
2.3 4 only

Consider the following statement with
'o the supreme coun

Ihe parhament 1s authonized to curtail
the jurisdiction and power of the supreme
coun

As  per  constitution  the  court’s
Jurisdiction does not extend 1o a dispute
ansing out of pre constitutional treaty
which had continued 1n operation
thereafter
Both supreme count and high court
cnjoys the power of special leave to
appezal or special leave petition under
article 136

In Roopa Hurra vs Ashok Hurra case-

2002 supreme court evolved the concept
of curative petition

Which of the following statement in correct

(a)
(b)
(c)
(d)

2,and 4 only
1.2 and3 only
2.3 and 4 only
1:2;3,4

www atiyafoundation.com
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¢ following passage:

?:zfrfie;’ircs of thg world cgnnot be cured by
physical help only. Until _man’s nat'ure
changes, his physical needs will always arise,
and miseries will always be felt, and no
amount of physical help will remove them
completely. The only solution of the problem
is to make mankind pure ignorance is the
mother of evil and of all misery we see let
men have light, let them be pure and
spiritually strong and educated; them alone
will misery cease in the world. We may
convert every house in the country into a
charitable asylum, but human misery will
continue until man character changes.

14. According to the passage which of the
following statement is most likely to be true as
the reason for man’s misery
(a) The poor economic and social
condition prevailing in society
(b) The refusal on the part of man to
change his character
(c) The absence of physical and ma
help from his society
(d) Ever increasing physical needs due
to changing social structure

15. The sum of a two-digit number and its
reverse is a multiple of 8, how many such number
exist,

(a) 8 ®9 (10 @12
16.

Find the unit digit of the given sum.

(a) 3 (b) 4 (©)0 (d)5

SET-A

17. The traffic lights at
crossing change after eyo
seconds and 36 seconds respectively. If they all

change simultaneously at §:45 PM. Then at what
time will they again change simultaneously

three different road
Ty 18 seconds, 24

(a) 8:48:12 PM
(b) 8:47:13 PM
(c) 8:49:16 PM
(d) 8:46:12 PM

18. Find number of zerg in the end of the
following product.
S“10*lS*20"‘25*30*35‘40*45*50*55*60

@ 14 ®12 (g6 (d) 10

19. Pick out the incorrect statement about
scals of Indus people.

(a) Harappan seals were made of steatite.

(b) Seals are mostly in square or rectangular
shape.

teri - (¢) Hump less bull is most frequently depicted
6thg y dep

animal on seal
(d) The common man was in possession of the

seals
20. Consider the following statement about
Jainism
(1) Jain monks did not indulge in

metaphysical discussions
(2) Mahavira followed a liberal policy
towards women
(3) Jainism did not encourage agriculture
(4) Jainism used Prakrit to propagate

teaching as it was the language of the
common people

Which of the following statement is correct.

(@) 1,2 and 3 only
(b) 2,3 and 4 only
(c) 1,2 and 4 only
(d) 1,2,3and 4

www.atiyafoundation.com
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21. Arrange the following chalukyan rulers
in reverse chronological order.
. Kirtivarman |
3. Vijyaditya
(a) 1-3-2-4
(b) 4-1-2-3
(¢) 4-2-3-]
(d) 3-14-2

2. Vikramaditya 11
4. Kirtuvarman II

22, Consider the following statement.

I. The first Battle of Tarain was won by
Prithviraj Chauhan 1191 A.D
2. The first battle of Panipat w

between Sikandar Lodhi and B
AD

as fought
abur 1526

Which of the following is correct.

(a) Only |

(b) Only 2

(c¢) Both | and 2
(d) Neither | nor 2.

23. “Nannul”
period refers to:
(a) A measurement of land
(b) An arid region where people
dependent upon plunder and raid

(¢) Tax levied to support administrative
expenditure

(d) Guilds formed by traders and merchants

a term used during Sangam

were

24, Consider th
Mughal period
1. Abolition of pilgrim tax
expedition against Malwa
Battel of Haldighati
Construction of Buland-darwaja a
Fatehpur Sikri
5. Akbar transferred his capital to Lahore

e following statement during

INEWIN

SET-A

3 26. Arrange the followin
Otl grdcr in

MR

Arrange the tollowing in chronological order.

(a) 1-3-2-54
(b) 1-2-4-3-5
(c) 2-3-1-54
(d) 5-2-4-3-

Consider the tollowing st
. The third battle
1761 AD betwe
Shah Abdali.
Shah Alam particj
in 1764 AD.

Jahandar Shap participated in the battel
of Plassey in 1757 AD

atement.
of Panipat was fought in
°n Marathas ang Ahmad

(a9

pated in batt of Buxar

(¥ ]

Which of the following Statement is correct.

(@) 1and 2 only
(b) 1 and 3 only
(¢) 3 only

(d) 1,2 and 3

g in chronological

which concluded subsidiary alliance with

lord Wellesley.

1. Mysore

2. Sindhia
3 Hyderabad

4. Awadh

(a) 1-34-2
(b) 3-2-4-1
(c) 2-4-3-1
(d) 3-14-2

by B Indians were assured of many things in
Queen Victoria proclamation 1858 which of the

following assurance was fulfilled by the British
government.

(a) Abandoned the policy of annexation.

(b) Maintained the status quo of the native
rulers.

(c) Given equal treatment to all the subjects,
Indians and Europeans.

(d) Made no interference in social and
religious belief of the Indians

www atiyafoundation.com
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28. Consider the following statement about
the Indian National Congress
. Annie Besant was the first women to be

the president of the congress
A.O Hume was the first Britisher who
become the president of Indian national
congress
Mahatma Gandhi suggested the winding
up of Indian National Congress after
India attained independence
4. While delivering the presidential

address Jawahar Lal Nehru advocated

the introduction of Roman script for
Hindi language

-

fad
.

How many statements are correct.

(a) Only one
(b) Only two
(c) Only three
(d) All four

29. Consider the following statement.
1. Provision of Federation
2. Introduction of Dyarchy in provinces
3. The establishment of Federal Court
4.

Provincial Autonomy

Which of the above provision were included
in the Government of India Act-1935

(@) 1,3 and4 only
(b) 2,3and4 only
(¢) 1,2and 4 only
(d) 1,2, 3and 4

30. On 6 July 1942 g the working
committee of the congress Mahatma Gandhi
discussed for the first time his Quit India policy.
The president of the committee was.

(a) Motilal Nehru

(b) Jawahar Lal Nehru

(¢) Annie Besant

(d) Maulana Abul Kalam Azad

SET-A

otiyd

wirom the passage.

e

11

s

31 In what ratio myg ashopkeeper mix twe
varictices of rice Costing Ry, |5 Per kg and Ry 20
Per kg to get a mixtyre worth Ry 16 50 per kg

(@) 723 (b)5:9 (c) 34 (dya:s

Read the Jollowing passage and angwer the
question given below

For many people livin
wildlife is often

television. But the
breathe the water yo

£ in towns and Citics,
somcthing  you warch on
reality is that the arr you
u drink and the food you cat
all ultimately rely on biodiversity some cxamples
are obvious without plants there would be no
oxygen and without bees 1o pollinate there would
be no fruit or nuts, Other are less obvigys coral
reefs and mangrove swamps
Protection from cyclone and tsunamis for those

living on Coast, while trees can absorb ar
pollution in urban arca.

provide invaluable

32, Which of these is most critical inference

(a) Many new medicines are harvested from
nature

(b) Many species are being lost before we are
even aware of them

(c) Without biodiversity there is no future
for humanity

(d) If money is a measure, the services
provided by eco system are estimated 1o
be worth trillions of dollars

33. A Man’'s age 15150% of what it was 10
years ago but 75% of what it will be after 10
years. What is his present age in years

(a) 20 (b)30

(©)40 (&) 50

wWww atiyatoundation com
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34, If 492 @ 4=6 and 580 & 3=8. then what
should 12726 be

(a) 7 (b) 168 c) © (d) 3

3s. In a certain code CYCLING is coded as

GYCLNCI then how is PUBLISH coded in that
code.

(a) HPULISB
(b) HUBISPL
(c) BLUISHP
(d) Cannot be determined

36. Which of the following

statement in
incorrect

(@) Geologically peninsular region is India’s
most ancient part

(b) Himalaya mountains demonstrate the
most newly develo
in the world

(¢) The western coastline in wide and

cmergent type while eastern coastline in
narrow and submergent type

(d) Structurally the Meghalaya plateau is
and extended type

37 Consider the following pairs

T TN =

+—— Name of wind | Region
1| Khamsin Egypt
12 'Misra Rhine Valley

Alps Mountains

ped folded mountaigs; t\;‘., § ®

Poland

How many of the above pairs are not correctly
matched.

(a) Only one
(b) Only two
(c) Only three
(d) All four

SET-A

38. Assertion (A) - Cotton textile industry is

concentrated in cotton Producing regions of India
Reason (R) @ lis raw matenal lose weight

during transportation ang manufacturing,

1 Reason (R) is

correct, and Reason (R) sty
explanation

(b)Y Both Asse

\ﬂ\! Both .‘\SSCﬂiOn LA ang

¢ corTect

of Assertion (A)

rtion (A) and Reason (R) is

correct. but Reason (R) is not corre
explanation of Assertion.

(€) Assertion (A) is COTTeC
(R) is wrong.

1 |
t. but Reason

(d) Both Assertion (A) and Reason (R)
are wrong.

39, Consider the following s

alts present in
the oceanic water.

. Magnesium Chloride
Calcium Carbonate
Potassium Sulphate
Sodium Chloride
Magnesium Bromide

(4d !J

+

h

The correct sequence of decreasing order of
their content in the ocean water is.

(@) 4-2-1-3-5
(b) 4-1-3-2-5
(¢) 5-4-1-322
(d) 1-54-2-3

40. Which of the following is the longest
mountain range in the world.

(a) The Rockies
(b) The Himalayva
(¢) The Alps

(d) The Andes
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41. Assertion (A) : The surface winds spiral
inward towards the center of the cyclone.
Reason (R): Airrises upward at the center
of the cyclone called as eye of cyclone.
(a) Both (A) and (R) are truc and (R) is
the correct explanation of (A)
(b) Both (A) and (R) are true but (R) is
not correct explanation of (A)
(¢) (A) is true but (R) is false
(d) (A) is false but (R) is true

42, Consider the following pairs
Mountain Range Type
1 | Alps Folded Mountain
2 | Vosges Block Mountain
3 | Vindhyas Residual Mountain
4 | Fujiyama Volcano Mountain

How many of the above

pairs are incorrectly
matched.

(a) Only one

Y
(b) Only two 9
(¢) Only three G}‘JQ
(d) None
43. Which of the following is correctly
matched.
Countries Grassland
(@) | Argentina | Pustaz
(b) | Hunga Pampas
(¢) | Veld South Africa
(d) | Downs Germany
44, Lake Garda recently seen is news is
located in,
(a) Gaza
(b) Israel
(¢) lItaly
(d) Ukraine
15
SET-A

45. Consider the followi
Arab-league
1. Itis aregional multinationa) organization
of Arabic speaking countrieg in Middle
East and North Africa.

2. It headquarter is located in Saudi Arabia

ng statement about

Which of the above statement(s) is /are correct
(a) Only 1
(b) Only 2
(c) Both 1 and 2
(d) Neither 1 nor 2
46. Consider the followin
Lebanon
Turkey
Egypt
Iraq
Jordan
Syria

g countries.

awh Wb =

How many of the above countries border
with Israe]

(@) 2 (b)4 (©)5 (d) Al

47. A vessel contains 24 liters of milk 4

liters are withdrawn and replaced by water. The
process is repeated one more time, then the ratic
of milk to water in the resulting mixture will be

(@) 25:36 (b) 11:25  (c)36:11 (d)25:11
48. If price of an article is first decreased by
25% and then increased by 20% then the net
change in the price of article will be

(@) 5% Increase

(b) 10% Increase

(¢) 10% Decrease

(d) 5% Decrease

49. A dishonest grocer sells nce at a protit
of 10% and also uses weights which are 20% less
than the marked weight. The otal gaw cared by
him will be
{i:l) 37 5% {b) “Uu’u

(C) 305%  (d) 9%

Www aliyafoundation com



wa  ATIYA FOUNDATION

4. MU (A) . T YhaTdl b
ﬂ‘?ﬁtﬁlahwmﬁmmmg
PRU(R) : THaT F ¥ A g Hw )

3R I5d B
2l

ISR b 1 aife w1 oy

(a) (% i (R) BF1 9 § 3R (R, ()

qrey

(b) (A) 3R (R) B T ¥ Ay (R), (A)
&1 HE! W T R

(c) (A) & 05 (R) o

(d) (A) 39 & fp (r) T R

2. i o w Rer wy
| uda e THR i
R R WIS Higen

2 | ARty i Ao

3 | Saf21y udg
A Saended
IRIad it A R e g e g Of‘i‘g@

(a) HIA TP

(b) FaT &

() ai?ﬁﬁﬂ?[

(d) B T

43. Frafefea ¥ S o o od giftm

=y U T
(@) | 3l TS
(b) | YUy
() |deg &1 31T
) | 33 ST
44. BT A @R A S 7 e et el
REg
(a) TSI
(RESNER
(c) et
(d) b
SET-A

16

45, IRE-lIN & AR ¥ PafifRa e o
faar w¥

I 98 7 d 3R I9d e & aral
urﬁlé&ffm%ﬂﬂuaﬁ?m%

2. UG JEIY IS ava W Ry &

(a) &I |

(b) Fae 2

(c) lahzzaﬁ

(d) A1, A8 2

6. PR i wREr

L UFF 4 WS

2. T 5. e

3. P 6. Hifear

Juad W F ¥ At T @ Ay

FORIFA T &

(a) 2 M4 (©5 (quh

4. IR Fu MUY wd A 4
T WY g Pea w geet Wi uR 3

fear s R1 39 fswr ) v WR ek

GG Wil B, o kot farsor 4 2y ol

U 1 S B

(a) 25:36 (b) 11:25 (c)36:11 (d)25:11

48. TfE 5t ang o e v 259, T
foman s § 3R R6% 209 s o 2 @
RIS 960 A g uRad B

(2) S%Q‘@

() 10% 3

(c) 10% HH

(d) 5% PH

49, TS SSHM GHHER TG B 10% A
RIS AR & 3ifba T 20% P
T BT I BN ¢ 139 GR1 R et
g

(a) 37.5% (b)40% (c)30.5% (d)35%

www.atiyafoundation.com



ATIYA FOUNDATION

Read the following passage and answer the
question.

What has been this quest of man. and whiter
does he journey? For thousand of years men have
tried t0 answer questions. Religion and
philosophy and science have all considered them
and given many answer religion has attempted to
give a complete and dogmatic answer and has
often cared little for the mind, but has sought of
enforce obedience to it decisions in various
ways. science gives a doubting and hesitating
reply, for it is of the nature of science not to
dogmatize, but experiment and reason and rely on
the mind of man. | need hardly tell you that my
preferences are all for science and the methods of
scienees,

50.
religion?

(a) The considers religion and

philosophy dogmatic and based on fore
and compliance.

Why does the author prefer science over

wriler

(®) The methods of science according to the

writer are inflexible and are based cg
of quest.

thousands of years
(€) The methods of science according 1o the
writer are not inflexible and irrational.
(d) The writer prefers the doubting and

hesitating answer which science provides
for the fundamental qQuestion about life.

SL. A Question is given below followed by

two statement | and 1. Consider the question and
statement,.

Question : What is the length of the line SQ,

which is the diagonal of a square as well as
the diameter of a circle.

Statement-I - All the four varices of the

Square lie on the circumference of the circle.
Statement-IT - The numerical value of the
area of the circle is twice the length of the SQ.

Which of the following is correct in respect
of the above question and the statement.

SET-A

'
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17

(2) The question cap be answered by using
statement 1 3lope while the

statement 11 alone yre not suffi
answer the question,

The question can be answe
statement 1l alone while
statement | alone are not
ANSWET 10 answer question.
The question can be answ
either statement | or state
The question can not be
by using both the stateme

data in
ctent to
(®) red by using
the data in
sufficient to
(©) ered by using
ment 11 alope.
answered even
nt together.

(d)

53, Ramesh and Niha| ¢
hrs and 10 hrs respectively. |
and use 10 less brick per ho

wall in 5 hrs. The number
wall is

an build a wall in 9
f they work together
ur they can build the
of bricks used in the
(@) 900  (b) 700

(€) 500  (d) 300

53, Consider the follo
Capital Output Ratio an
Output Ratio (ICOR)
L. Higher the Capital Output Ratio, better the
c rfi fth
periormance of the economy

2. The numerical value of ICOR is 5
Given: GDPR = 8% and investment =

wing statements about
d Incremental Capital

40% of
GDP
Which of the following statements is/are
incorrect
(a) Only 1
(b) Only2

(c) Both 1 and2
(d) Neither 1 nor 2

54. Consider the following statements with
respect to the CPI, WPI and GDP deflator.

1. Wholesale Price Index (WPI) includes
inflation in services while Consumer Price
Index (CPI) and GDP deflator doesn't.

2. GDP deflator includes the price of
imported goods, which WPI and CPI d_o.

3. Recently Reserve Bank of India has

adopted WPI as benchmark for Repo and
Reverse Repo Rates.

www atiyafoundation.com
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which of the above statements 1s/are correct

(a) | and 2 only

(b) | and 3 only

(c) 1.2 and 3 only

(d) None of the above

55, Consider the following
1. Cost of production
2. Domestic and International Price
3. Post-Harvest Losses
4. Demand-Supply Conditions
5. Intercrop price parity
6. Terms of Trade between agricultural and
non-agricultural sector
Which of the above factors are considered by
Commission for Agricultural Cost and Prices
for fixing the Minimum Support Price
(a) 1,2, 3 and 6 only
(b) 1,24,5 and 6 only
(€) 2,4,5 and 6 only
(d) 1.2.3.4, 5Sand 6 only
56. Consider the

following  statements

regarding the “Rapid Financing Instrument”
(RFI) a lending provision under International
Monetary Fund (IMF)

I. IMF aids developing and low-income
countries, through RFI, in case of natural
disasters and emergencies resulting from
fragility

2. India has not taken any financial assistance
from IMF since 1993

Which of the following is/are correct

(a) Only 1

(b) Only 2

(c) Both1 & 2

(d) Neither 1 nor 2

SET-A

ot?q
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7.

Consider the following statements with

respect to Angel lnvestors (Al) and Venture
Capitalists (VO)

dﬂ.

1. Al nvest their personal wealth and

networks while VC pool their money
from limited partners

2. Al tend to focus on specific sectors
whereas VC 1nvest in diverse range of
industnies

3 Al rcly on investment committees to
make  decisions  while V(O make
investment decisions individually

4 Al have more-balanced return

cxpectation while VC tvpically seck high
return on their investment

How many of the above statement(s) is/are
correct

(@) Only one

(b} Only two
(¢) Only three
(d) All four

Consider the following statements with

respect to official poverty line

I. The current official poverty estimation is

done on the recommendations of

Tendulkar committee (2009)

Tendulkar committee recommended two

separate baskets for rural and urban

poverty line

3. Tendulkar commifttee recommended use
of mixed reference period-based
estimates along with uniform reference
penod for some states

4. Official poverty line ae higher in some
state because Gross State Product varies
from state to state

!J

How many of the above statements is/are
correct

(@) Only one
(b) Only two
(¢) Only three
(d) All four

www atiyafoundation.com
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59 Consider the following:
. |. A substance obtained by a mere admixture
2. Method of agriculture and horticulture
3. A computer program or algorithm
4. A literary, dramatic, musical or artistic
work
5. A biological process to create a seed

Which of the following camnnoet be patented
under section 3(j) of Patent Act 1970.

(a) 1,3 and 4 only
(b) 2,4 and 5 only
(¢) 1,3 4and>5 only
(d) 1,2,3,4and 5

60. Consider the following
Capital goods of a firm
Depreciation

Profits of a firm
Output of a firm
Inventory

»oE W

Which above the following are Stock Variable
(SV) and Flow Variable (FV)

(@) SV:1and2

FV:3,4and 5
(b) SV:1,4and 5 FV:i2and3
(¢) SV: 1,3 and>5 FV:2 and 4
(d) SV:1land5 FV:2,3and 4

61. Consider the following parameters for

the horizontal distribution of taxes, used by XV
Finance Commission (2021-2026)

Income Distance

State Area

Forest and Ecology

Population (2011 Census)

Demographic Performance

[CF T

Arrange the following in the decreasing order
of weightage

(@) 1-3-2-5-4
(b) 1-4-5-3-2
(c) 2-1-4-5-3
(d) 14-5-2-3

SET-A

62. Which of the following is not a limitation
of the Market economy?
(a) It has almost no tool to look after those
who have lower purchasing power
(b) Negligible to the total absence of welfare
actions from the state.
(c) Widening economic inequality.
(d) Scarcity of investible capital

63. With reference to the components .of

Balance of Payment of Indian Economy, consider
the following pairs:

Transactions Components
1 | NRI deposits in India Current
Account
2 | Profit on the assets Capital
abroad Account
3 | Foreign Portfolio Capital
Investment (FPI) Account
4 | External Commercial Current
| Borrowings (ECB) Account

0

\:’ How many o iv i
t y of the given pairs are correctly
OILJ .g'latched

(a) Only one
(b) Only two
(c) Only three
(d) All four

64. Consider the following statements
Statement I: Transfer Payments are included in
the calculation of National Income

Statement II: These payments represent

transfer of income without any addition to the
production

www atiyafoundation.com
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which of the following is correct in respect of
the above statements.

(a) Both Statement I and Statement II are
correct and Statement [I explains
Statement |

(b) Both Statement Il and Statement n a1_-e
correct but Statement 11 does not explain
Statement |

(c) Statement I is correct but Statement 11 is
incorrect

(d) Statement I is incorrect but Statement a
is correct

65. Which one of the following was a
significant outcome of the Lucknow Congress
session of 19167

a) The Montagu-C helmsford Reforms were
condemned during this session.
b) The Indian Natio

demand the domi
¢) Annie

nal Congress agreed to
nion status for India.
Besant’s rule Home Rule

Movement was formally launched in this
session,
d) The Indian National
the Muslim Lea

electorates.

Congress accepted
gue's position on separate

66. Consider the following statements about
aquatic organisms:

I. Neustons are the organisms that remain
attached to the stem and laves of the rooted
plants emerging above the bottom mud.

2. Nekton are the group of animals which are
swimmers

3. Periphyton are the unattached organism
which live at the air water interface

4. Benthos are the organism which are found
in the bottom of the water masses

Which of the above statements are correct

(a) 1,2 and 4 only (b) 2,3 and 4 only
(¢) 1,3 and 4 only (d) 2 and 4 only

SET-A .-

67. The calendar of the year 2028 will be
repeated in

(a) 2034
(b) 2039
(c) 2040
(d) 2056

68. Consider the following statements

Statement I: Cockroaches and Crows are
omnivores

Statement IT: The natural interconnections of
food chain make it a food web

Which of the following

is correct in respect
of the above statements.

(2) Both Statement I and Statement II are
correct and Statement I] explains Statement

(b) Both Statement IT and Statement 11 are
correct but Statement II does not explain
Statement |

(c) Statement I is correct

but Statement I1 is
\3 incorrect
(d) Statement I is incorrect but Statement I
ct“dg is correct
69.

Consider the following statements

1. Nitric Oxide

(NO) are not the greenhouse gases

2. Amongst all the greenhouse
water vapor can absorb both inc
and ongoing (infrared) radiation.

(NO) and Nitrogen dioxide

gases, only
oming (uv)

Which of the above Statements are incorrect
(a) Only 1

(b) Only2

(c) Both1and2

(d) Neither 1 nor 2

www.atiyafoundation.com
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70 Consider the following pairs:

Fauna
Elvira rat

Malabar Civet

Lion Tailed Macaque

Bengal Tiger

IUCN Status
Endangered
Critically Endangered
Critically Endangered

2
Critically Endangered |
How many of the given pairs are correctly

matched

(a) Only one
(b) Only two
(c) Only three
(d) All four

Consider the following statements
Statement I Succession that takes place on
very dry area is called Xerach succession.
Statement II: Both Hydrarch and Xerarch

successions lead to the medium water
conditions (Mesic)

—EAreir i ks (RN TR

72. With I‘Efcl:cncc to the above passage
following assumptions are made

L. India is sitting on (e

- cusp of digital
revolution

2. India is more vulnerable 1o cyber attacks

3. A digital cconomy

1S a developed
economy

Which of the above assumptions is/are true

(a) 1 only

(b) 1 and 2 only
(c) 3 only

(d) 1,2and 3

73. A watch was | min slow at Ipm on
Tuesday and became 2 min £

ast at 1 pm on
Thursday. When did it show the correct time
(a) 01:00 am on Wednesday

(b) 05:00 am on Wednesday

(c) 01:00 pm on Wednesday

d) 05:00 pm on Wednesda
Which of the following is correct in respect ) pm on Wednesday

of the above statements. « 74
(2) Both Statement 1 and Statement I a@t[
correct and Statement I
Statement |

(b) Both Statement II and Statement 1I are

correct but Statement I does not explain
Statement 1

There are 64 pair of black shoes and 70
Gails of white shoes. They are put into a box and
~shoes are drawn one at a time. To ensure that at
least one pair of white shoes are taken out, what
is the number of shoes required to be drawn out
(a) 201 (b) 206

(c) 136 (d) 100

explains

(c) Statement I is correct but Statement II is
incorrect

(d) Statement [ is incorrect but Statement I1 7s. Which of the following is correct
1S correct

regarding the Kessler Syndrome
(@) It is a new viral disease causing severe

respiratory problems, to those vaccinated
with Covishield vaccine

(b) A rare disease discovered in Africa

causing bowlegs in children below 6
years of age

(c) A rare disease caused by sub-vanants of

Read the, Jollowing Passage:

The India government has embarked on a program
to turn the country into a digital economy. It has
unveiled a series of initiatives from introducing
digital locker, which eliminates the need for

; Omicron
peopleto carry hard copes of documents iusued by (d) Proliferation of space debris in low carth
the government, to demonetization, which has sebit
spread the use of digital payments across the
country.
SET-A
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76 Consider the following pairs with respect 4. Raliegh Commission.
to the Structure of Sun HO.“:' many oflthe above commissions of
— 1 Region Descripﬁon Bl‘ltlSh' Indm ‘ were related to
. Solar winds originate from education/educational institytions?
I | Chromosphere here Onl
| Strongest hydrogen emission a) ‘Only (?“"-
2 | Corona . b) Only Two.
spectra is seen
200 km thick shallow region ¢) Only Three.
3 | Photosphere where sun’s energy escapes d_) All four
as visible light | 80. Consider the following statements
How many of the given pairs are correctly Statcfmem I: X-ray astronomical Studies are
matched poss}ible only from satellites orbiting the
earth.
(a) Only one (b) Only two Statement II: X-ray coming from extra-
(c) Only three (d) None . s
. ; . . terrestrial objects are scattered by the earth's
717. Consider the following information atmosphere
about missiles, under Indian defense system Which of the following is correct i iSipech
Name Ty'pe Range (in km) _] Of the above Statements.
I. | Prithvi Cruise 3000-5000 (2) Both Statement I and Statement 1 are
2. [AgniV Ballistic 5500 cormect and - Statement 11 explains
5 : Statement 1
3. | Agni Prime le.se. 2000-3000 (b) Both Statement II and Statement II are
4. | Brahmos Ballistic 3000 3 correct but Statement IT does not explain
How many of the given pairs are corrcct%v;qg:ei ITe) Statement |
matched R e (c) Statement I is correct but Statement IT is
1 t
a) Only one Only tw —— 2
EC; Ong il ((1;’1)) i f{)ur 9 (d) Statement 1 is incorrect but Statement [T
78. Consider the following o :
. The Partial Ban Treaty 81. With reference to the fiscal policy,
) . 2 consider the following statements:
2. Nuclear Non- Proliferation Treaty : - ; .
3, Nuclear Sipilier G 1. Fiscal policy solely focuses on the
4' Auc cai1: upplicr Lroup quantitative aspects of raising revenue
S. ustra 1a Group ) spending money.
- Missile Technology Control Regime 2. The channels for fiscal receipts include
6. Wassenaar Agreement disinvestment proceeds, borrowings, taxes.
In how many of the above treaty(s) / groun(s 3 and user charges. , _
India has si;ned!is amembertY() group(s) 3. The Constitution in  Article 112,
explicitly mentions the division of budget
(a) 1,4 and 6 only into two accounts, namely the Revenue and
(b) 14,5and 6 only the capital accounts.
(¢) 1,2,3,5 and 6 only Which of the statements given above are
(d) 2,35and 6 only incorrect?
79.

Consider the following Commissions.

;. I]-_Iumgr I(I:.:nn:;:lils:m]. (¢) 1 and 3 only (D 2and 3
. Leg'Co ;

3. Hartog Commission.

(a) | and 2 only (b) 2 and 3 only

SET-A 27

www atiyatoundation.com



W

« ATIYA FDL’N'D.-‘LTION

28

;‘;‘fa?;;mﬁﬁﬁvﬁﬁgﬁ@aw 79, Amifdd 3 Ul TR H¥)
e 1. gweR31al
2.l 3y
I‘Wm 3. gEad
) %‘M?ﬁ%w\ 4.3 3 a
- I fafw wRa & I sl 4 R fbaed
B 200 ﬁ:ﬁﬁ%nq; Riggt/ el urzams Q dag 8
P PRRPR | g oot eva g (3) H3T T
LﬁW & &Y F e 3 (b) Haa 2}
g T el ‘ (c) Fad o=
@ T b)) SR
© I (@B 80. PafiRa P w Rar
. P VT WG (e et gad) )
NGl i S L AN A
- YT AT Fgelt I 3@ are
. :E TR Y9 @, %ﬂf?ﬁt%ggﬂ%%mﬁmm;
Rk 3000-5000 HUH & Ty A e 3§ Q
EAELT %ﬁm 5500 BIEREY
3. | frvmm 20003000 | (a) B IIRFE QNI R
3 ?ﬂﬁ 3000 Qﬁ‘qc TPYT [ 1 Re Tl
v T g § 3 o g IgREE YT () U 1 3R A 1 e e R A
DY 1 HYT 1 ) STRAT 78T | 2
@ ggg;z (b)afma;a (c) U 19§ e o 11 T 2
©) (¥R (d) U [Tl & AT o 11 ) 2
TRy — 8. TN AR om & e
| i oo o TRl e e %
2. URHIY 3UER Gy 1. AN fie e weRa g
3 WWW nm%marmﬁuhmuﬁf-ﬁaﬂm%
4. AT T 2. TowT el ¥ e ¥ R
5. [BRER LG ' » .
, . 3. WRym 112 § s
Sudad el F & Reeeh v sl 3 R a3 31 p St
R MRS 3 BRI R e T T &, roRa ok gl wn
() HaE 1,4 3R 6 : :
& B 1 s v Iugad § A S A B e 82
(c) HaA1,2,3,5 3R 6 (@FIA1M2 (o Faa13R3
(e F 235 3R 6 () Faw2 33 (d)123R3
SET-A

www.atiyafoundation.com



A1 IVA FOUNDATION

Constder the tollow g
| Nuclen Avid
oot
v Cell Boergy Lranster System
4 Bwlopwal Membrane

82

phosphorus s a1 major constituent ol w Iach ol the
tollowing

() 3 and 4 only

(b 1, 3and 4 only
() 2 and 3 only
(@ 1, 2 and 4 only

83. Consider the tollow iy tests,

Sputum Smear Test

Drug Susceptibility Lest

Gene Xpert Test

e S -

The
diagnosis of

above tests are conducted the

tor

() Tuberculosis

(b) HIV AIDS

(¢) Sickle Cell Anemia

(d) Japanese Encephalitis
84, Consider the following statements
1.Green hydrogen is the hydrogen produced
using clectrolysis of water using electricity
generated from natural gas or coal
2. Pink hydrogen is the hydrogen created
through electrolysis of water using nuclear
cnergy

Which of the statements piven above is/ are
incorrect

(a) Only 1

(b) Only?2

() Bothland2
{(d) Neither | nor 2

85.
Plant
(a) Sunflower
(b) Gram
(c) Wheat
(d) Barley

Which of the following is a Day Neutral

SET-A 29

N
otiyo

NG Conmder th tollow g atatements,
oG 1860 v led arop cultivated durning
I bt seanon
Yoack pramcan be cultivated an botl kbl
andd tabit cropn
VoGeen prame o ciane be cultivited oy gyl
neanon only
A Pipeon pea occupies the laphest area andey
pultie cultevation i bndin
How many ol the above stitements e
corroct
() Only one
(b) Only two
(¢) Only three
(DA Towm
87. Consider the tollowing statement
L.Cwrbofuran, Methyl Parathion,
Propenophoy — and Trinzophos  are  the

chemicals authorized (o be used in the fo;
industry in Indin the
HCEC- 141 b

2. Pyrethrin iy @
persistont

n
aller phasing out
biodeprndable,
pesticide  used 0 kil
mosquitoes, lics and other ingects

Hon
the

Which of the statements given above i/
correct

(n) Only 1

(b) Only 2

(¢) Both | und 2

(d) Neither | nor 2

dre

§8. With  reference  of  the  Geneva
Convention on Refugee (1951), consider the
following statement

Lo It is o United Nation Secunity Council
(UNSC) Treaty that defines who is a refupec
and sets out rights of the mdividual who are
granted asylum

2. It provides for some visa- free wavel for the
holders of the refupee tavel documents
issued under the Convention.

3. As per the Convention, the refugecs have
the right to housing, land  and
including intellectual property

4. The core principle of the
non-retoulment,

property

convention s the

www atiyatoundation.com
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which of the above statements is/ire correct
@) 1, 2and 4 only

™ L3 and 4 only

lc\ 2and 4 0“1)’

(@) 2, 3 and 4 only

How many of the uhove
is/are correct

(a) Only onc

(b) Only two

(¢) Only three

(d) All four

statements given

89, Consider the following statements with 92. Consider the following ‘*f“"‘mﬂm% with
refrence to the “Paris Club™ respect to the no-confidence motion:
1. It is an organ of IMF, which provides 1.
financial assistance to any debtor nation
2. India has recently became the member of
the Paris Club
3. A country needs to demonstrate track
records of the implementing reforms under

Neither the Constitution nor the Rules of
Rajya Sabha provide for the No-confidence
motion.

2. The House of People is not empowered
to entertain the no-confidence motion.

an IMF program Which of the statements given above is/are
correct?

How many of the statements given above (a) 1 only

is/are correct

(a) Only one (b) 2 only

(b) Only two (¢) Both land 2

(c) All three

(d) None

i (d) Neither 1 nor 2

90. Paraparatrechina neela recently seen < lgge'

it _ _ o
news belongs to which species o) I;Z‘onmder the following paragraph about
(&) Fish a Tiger Reserve

(b) Ant Kankarwadi fort is located in the center of the
(c) Spider reserve and it is said that Mughal emperor
P Aurangzeb has imprisoned his brother
(d) Frog ;
Darashikoh at this fort in the strugele /or
succession to the throne. It also has Siliserh
9 A = i .
Uln't d \r:!m.l reference of ﬂ,"c mc}:lmb:r;hlp . of Lake , which is home to a large number
Sta:ee taltlons. (UN), consider the following crocodiles.
men . Qi L G
Which of the following Tiger reserve s
I. Membership is open to all peace-loving described in the paragraph
states that accept the obligations continued in
the UN charter N (a) Dholpur Karaul lTiger Reserve
2. The General assembly shall decide by one-
third majority of the members present and (b) Veerangna Durgavau Liger Reserve
voting upon the application for the
membership of the state (¢) Nagarun-sagar Stisalam
3. Palestine has been accorded the
membership status within the UN (d) Saniska Tiger Reserve
4. Since the establishment of UN,only one
country has been expelled
31
SET-A
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04. 1gla-5 recently seen in news is described
by which of the following
(1) China
(b) Air-defence system developed by the
USA
(¢) Aw-independent

propulsion  system
developed by ISRO
(d) Man-portable  air-defence system

developed by Russin
9s, Which of the following, statements is/are
correct about Drip Pricing
I. In Drip Pricing the firm decreases the price
of a product to increase its sale in the market
2. In Drip Pricing the firm advertises only a
part of products price and reveal other
charges later
Answer using following codes:
(a) Only 1
(b) Only 2
(c) Both 1 and 2
(d) Neither 1 nor 2
96. With reference to the Rock art sites in
India consider the following pairs

Rock Art Site State
1 | Lakhudiyar Uttar Pradesh ¢y
2 | Maski Uttarakhand
3 | Piklihal Odisha
L4 | Boloor Panne Koteda Karnataka
How many of the pairs given above are correctly
matched
(a) Only one
(b) Only two

(c) Only three
(d) All four

97. Consider the following statements

I. Hasrat Mohani was the first person to
demand complete independence

2. G.V. Mavlankar chaired the constituent
assembly on the eve of Independence

which of the following is correct
(a) Only 1
(b) Only 2
(c) Both 1 and 2
(d) Neither | nor 2

SET-A
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Y. Consuder (e tollowing statements

1. The registttion of am e PR may  bhe
allowed for all copnizable ottenses wherem
the punishment preseabed s up o three
years.

2. To file an e-FIR, the police officer must
receive the complainant's approval within
three days.

3. At Present, only cight states n India have
implemented  the  registration of ¢-FIR
under the CCTNS Project,

How many statements given above are
correct?
a) Only one
b) Only two
¢) All three
d) Nonce
99,

Consider the following statements
I. Kerch Strait connects Black Sea and Sca off
Marmara
2. Bosporus Strait conneets Black Se
Sca of Azov
3. Dardanelles Strait conncets Ay
and Mediterranean Sea

A and

WA Sea

Which of the lollowing  statements
correct

(a) 1 and 2 only

(b) 2 and 3 only

(¢) 1.2 and 3 only

Is e

(d) None
100.  With respect to The Advertising
Standards  Council of India, consider (he

following statements
L. I's a statutory body constituted under the
Companies Act 2013
2. 1t looks into complamnts across all media
3. It's a part of the Exccutive Committee of
International Council on Ad Sellt-Regulation

Which of the above statements 1s are
(@) 1 and 2 only

(L) 2 and 3 unly

() 1 and 3 only

(d) 3 only

. A »
COrredt
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